Ottoman Hardware

Seat Frame for
Reference Only




Ottoman Hardware

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1071225-NLA | NLA - Frame, Base, Fixed Arm, Grey 1 1
2 7930333 Locknut (1/4-20) 25 1
3 1070001-NLA | NLA - Spacer, Nylon (1/4 X 3/4 X 7/16") 1 14
4 1069959-NLA | NLA - Bushing, Pivot 1 2
5 1069247-NLA | NLA - Link (5-1/8") 1 2
6 1070002-NLA | NLA - Ratchet Plate - Right 1 1
6 1070003-NLA | NLA - Ratchet Plate - Left 1 1
7 1025451 Screw, Slotted Hex Washer Head (#10-32 x 5/8") 1 4
8 1024796-NLA | NLA - Screw, Hex Head (1/4-20 x 2") 1 2
9 1006490-NLA | NLA - Tip, Plastic, Black 1 2
10 1073640-NLA | NLA - Shield, Link - Right 1 1
10 1073641-NLA | NLA - Shield, Link - Left 1 1
11 1069248-NLA | NLA - Link (9-7/8") 1 2
12 1069250-NLA | NLA - Link (4-3/8") 1 2
13 1069971-NLA | NLA - Ottoman Weldment 1 1
14 1021406 Screw, Hex Head (1/4-20 x 1-1/4") 1 10
15 1026106-NLA | NLA - Washer (1/4 x 5/8 x 1/16") 1 2
16 1029501 Plug Button, Black (1") 1 2
17 1069996-NLA | NLA - Connector, Ratchet 1 1
18 1069249-NLA | NLA - Link (8-1/2") 1 2

NOTE:

A - Includes items 2-15




